Example: To measure the speed in a compressible air flow stream one needs to measure both the stagnation pressure (PO) and the static pressure (P).  In addition, one also needs to know either stagnation temperature (TO) or the static temperature (T).  Determine the flow velocity if P/PO=0.8 and TO=27°C.
Solution:
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(can use either the formula or the isentropic flow table, as an example: http://utwired.engr.utexas.edu/che354/isentropic_flow.pdf
To calculate the flow velocity we need to know the speed of sound 
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From the isentropic flow formula 
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